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13 

（　） After series of tests, Brian proved to be the most competent 

among all the 　　　 , the one everyone could look to.

（Ａ）candidates（Ｂ）horizons（Ｃ）viewpoints（Ｄ）

controversies
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16 

（　）  The reason millennials are called“strawberry 

generation＂is 　　　 they are believed to be“easily 

bruised＂.

（Ａ）how（Ｂ）why（Ｃ）because（Ｄ）that

解析

千禧世代之所以會被稱作「草莓族」是因為他們被

認為「容易受傷」。

be動詞後面需接名詞子句，因此不可只用（Ｂ）選
項because。而（Ａ）選項how表「如此」，（Ｂ）
選項why表「為何」，根據本題文意，應接（Ｃ）
選項that名詞子句，指「因為」。
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倒數
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The bottom line? Facial recognition technology is already 

out there, although how to use it without putting people at risk or 

invading their privacy remains a hot debate topic. Smith insisrts that 

their intention is certainly not to have some kind of Big Brother thing 

going on;they wouldn´t want this system to be used by anybody 

who didn´t want to use it.
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